Chiffres Romains (A)

Faites la conversion entre les numéraux arabes et romains ci-dessous.

MMCDXL = 2440 MMLDII =
MCCIV = MMDVII =
MMMDCCVI = MLXVII =
MMCIV = MMCCCLXXIII =
MDCCCLIII = MMVDII =

MMCCCXXXI = 2331 = 3500

= 1560 = 2373

= 3864 = 1594

= 1546 = 1446

= 3530 = 1728
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Chiffres Romains (A) Solutions

Faites la conversion entre les numéraux arabes et romains ci-dessous.

MMCDXL

MCCIV

MMMDCCVI

MMCIV

MDCCCLIII

MMCCCXXXI

MDLX

MMMDCCCLXIV

MDVLI

MMMDXXX

2331

1560

3864

1546

3530

2440

1204

3706

2104

1853

MMLDII

MMDVII

MLXVII

MMCCCLXXIII

MMVDII

MMMD

MMCCCLXXIII

MDXCIV

MCDVLI

MDCCXXVIII

2452

2507

1067

2373

2497

3500

2373

1594

1446

1728
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